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1. ( )The core inflation rate, measured by the core CPI,
measures changes in the (A) price of only two consumer
goods: food and fuel; (B ) prices of all consumer goods;

(C) prices of all consumer goods except food and fuel;
(D) prices of all consumer goods except health care.

2. (

government securities, which
(A) buys, decreases; (B) sells, increases; (C) sells,
decreases; (D) buys, increases.

3. () The multiplier effect occurs because (A) changes in

) In an open market purchase, the Fed -
bank reserves.

price levels affect our willingness to invest, consume,
import and export; (B) an autonomous change in

expenditure causes an induced change in consumption

expenditure;( C )of government stabilization policies;( D) |

of income taxes.

4, () The intertemporal substitution effect of a change in
the price level results from a (A ) change in the price of
current goods relative to future goods; (B) change in the
purchasing power of wealth; (C) change in the price of
foreign goods relative to domestic goods; (D) Both
answers B and C are correct.

5. ( ) The crowding out effect refers to (A ) government
spending crowding out private spending; (B) private
saving crowding out government saving; (C) private
investment crowding out government saving; (D)
government investment crowding out private investment.

6. (
tool? (A) discount rate; ( B) open market operations;

(C) required reserve ratio; (D) federal funds rate.

7. () Which of the following is correct? The demand for

money( A )increases as real GDP increases;( B )decreases

) Which of the following is NOT a monetary policy

as the price level increases;( C )depends on the quantity of

money; (D) increases when the interest rate increases.

8. () To measure GDP using the expenditure approach you

must collect data on (A) inflation; (B) exports; (C)

wages; (D) saving.

p2-2

9. () Inyears with inflation, nominal GDP increases __
real GDP. (A) at the same rate as; (B) faster than; (C)

slower than; ( D ) sometimes faster, sometimes slower, and

sometimes at the same rate as.
10. ( ) Unemployment that is the result of recessions is

called (A) frictional unemployment; (B) structural
unemployment; {C) cyclical unemployment; (D)

downtime unemployment.
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